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MATHEMATICS R

1. l

The volume of a cuboidis x3 _ 7y 4 ¢, then |1 AR wemy &1 AT x3—-7x+6 &,

the longest side of cuboid is e CHATY @) ey of el eIl erft -
(A) x 13 (8) None of these (A x 43
© x_—1 D) x_—2 B) g9y ) w1 Taf

2 The Quadratic equation, whose roots are |2 : 4447
— x) e o e & qd
4+\|/ d 4-— \'?i

an S 2
2 2
e AR AT g < g
(A) 422 +16x+9=0 5 §, . S
(8) 4x?—16x-9=0 () 4x?+16x+9 =0
(© 4x2—16x+9=0 (B)  4x?—16x—9=0
() 4x2+16x—-9=0 © 4x2—16x+9=0

(D)  4x2+16x—9=0

3. The perpendicular distance between two|3. T JHFR YeEait 3x+4y—-6=0 IR
parallel lines 3x+4+4y—6=0 and |- -
g B 6x+8y+7=0 F 99 o T &

(A) 19/10 unit (B) 19/5 ynit
-9 10119 unit (0) 19/2 unit

6x +8y + 7 = Qisequalto
{A) 19/10 unit (B) 19/5 unit
{©) 10/19 unit (D) 19/2 unit

4. The length of sides of a triangle are in the ratio | 4. ' Brge @ yormell @t U 3 : 4 : 5@
3:4:5 and its perimeter is 144 cm. The area| . 3R SH®T URANT 144 cm B 91 ST

of triangle is 8% T BRT 2
(A) 764 cm? (8) 684 cm? (A 764 cm? (B) 684 cm?
(@ 864 cm? (D) 664 cm? © 864 cm? d) 664 cm?

T .



448 1t cm? and

height 7 cm. Then its lateral surface area is

The volume of cylinder is

5 Up oEqdd  ded B gdd

448 rem? AR B 7 em &, @ s@@

(A) None of these (B) 259 cm? I o T B ?
(© 352 cm? () 252 cm? W rg Tl ® 259 am?
(© 352 cm? (®) 252 cm?
IfA= 4x+%thenthevalueofA+%iS afg A = 4x+%?ﬁ A-{—iﬁﬂﬁ'g—
(A) 1 (8) None of these (A) 1 (B) B &
4x3 + x 4x3 4+ x

© 4x%+1 o X © 4x?+1 b X

x 4x?+1 2 4x2 41

. The earth makes a complete rotation about its

axis in 24 h. What angle will it turn in 3 h 20
minutes ?

(A) None of these (B) 50°

(© 120° (D) 130°

If side of cube is 6 cm, then the-diagonal of

QA U A& W YAD §Y TP dIHR X
B H 24 HUS T ®, O 98 3 HUQT
20 e ¥ foar @or g
(A)ﬁi:rgf (8) 50°

© 120° (D) 130°

-aﬁaﬁﬁgmaﬁfﬂg‘r?ﬁwm

cube is . famo & :
) 6v3 cm B 2v3cm W 6vV3em B 2v3em
© 6v2 em ®) 342 em @ 6v2em @ 3v/2 cm
- The solution of equation yg_zy% =151s ; ‘\‘PﬂW yz 2y3 — 15 DT B g
(A) 27,—125 (B) 25, 27 () 27,—125 (B) 25, 27
(© 125,-27 (b) 25,-27 (© 125,-27 (b) 25,27
Page: 3 432631
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10,

(A) x = 50°,y =30° W x=50°y=30°
(B) x =30°y = 50° B)  x=30°y=50°
@ x =50°y = 60° @ x=50°y=60°
(D) x =55°y = 65° (D) x =550y =¢5°

T If f3x — 2 = 24/3 + 4, then the value of x| 1 Tlﬁ'\/gx_zzz\/?.;_q. dl x &1 4 8

s , W 2(1-v3) @ 1143
W 21-+3) ® 1143 \
9 1-43 @) 2(1 + V3)
@ 1-v3 = © 214 3)
12. Vertex of a triangle are (4, 6), (2, -2) and (0, 2), |12 Jfe e & i & fcwie @4, 6), =
then co-ordinates of its centroid mustbe. (2, -2) AR (0, 2) &, A P Pwd &
(A) (2,2) ® (2,2 | e 8
© (2,3) (D) (1, 2) B ) ® (-2, 2)
(O (@ 3) () (1, 2)

13. Angles of a triangle are in ratio of 1 : 5 : 12, 18 TB A T PN BT ST 1 : 5 ¢ 12 T,
i t angle of this triangle is :
biggest angle o g & A @ = 5.

(A) 45° (8) 90° :
A o (B) no
{©) 1200 (D) 600 (A) 4—5 30
(©) 120° (D) 60°
Page: 4 432631
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2 4y
" The value of (_x - —) (12 +24 _.:) is
x2

X
equal to

A 4
()x3+2x+ ;— 8

(B) 8
x3— e
c 8 (D) 8
9= x3— =
X< X

5. A and B can do a piece of work in 72 days. B
and C in 120 days and A and C in 90 days. In
what time can A alone do it ?

(A) 120 days (B) 55 days

(€) 110 days (D) 60 days

16. If points (5,5}?(1(‘),\@ and (—5,1) are
collinear. Then the value d‘f\‘k is
(A) 9 R N

() 8 (D).7

17. In figure ZBAP = 80° and £ABC = 30°, then
£AQC will be

B
W
C
P A Q
() 65° " (8) 50°
(© 110° (o) 55°

X
A 4
" x3+2x+-— 8
® . 8
X ";
(€ 8 (D) 8
s -

15

A iR B ot & @1 fiaax 72 fadi 4
W F=d & B R C S FM B 120
foi % gar A 3R C, 90 AT H K, @
A 3hell 99 PM BT fhan AT § B
(A) 120 fa=T & (B) 55 feAT #

(© o fe=i 4 (D) 60 faAT #

. 9f g (5,5),(10,k) IR (=5,1)
WERT & dr k BT A E .
(A) o (B) 6
(€ 8 (D) 7

1. frg ¥, ,BAP=80° 3R ,ABC=30° dl
£AQC T AM BN

HILHORRIL

Page: 5
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8 | sinx+sin’x=1, then the value of
cos?x + cos*xis
(A) -1 (8) O
(€1 (D) 2
9 jf 2% = 5Y = 107% thenthe value of
G+3+3m
9 Ay A
(A) -2 (8) 0
(C) 5 (D) 3

(logy—logz) (log z—log x)
x Y

20. The value ofX

Z(log x—logV)is equal to

X
(A) 5 (8) 1
)3 (D) O

A train passes telegraph post in 40 seconds

21.
moving at a rate of 36 km/h. Then the length of

—
—

e
— ) 21:—; 1' ﬁ
18 TS gin x + S
=7
cosix + cos*x Bl A
W (8) 0
9. AR gx = 5= 107 @ @ -
Gtz
(© 5 (D) 3
2. X(log y-logz) 'Y(los z-log )
(logx—logy) aWER € -
x Z
(A) 5 () 1
© 3 (D) 0
2t@$%ﬂ@'%ﬁ'ﬁhﬁ'¢ﬁ'ﬁ 40
JAdpvs H 36 km/hﬁwﬁmamﬁ
the train is g, ?ﬁ?@!"ﬂ@ﬁﬁﬂﬁlﬁ%—
(A) 450 m (8) 500 m (A) 450 m (8) 500 m
(c) 400 m (D) 395m - (D) 395 m

The value of A
1—sinx

(A) secxy+tanx (B) secx -fanx -

{0 secx—tanx (D) tanx —secx

. The perimeter of an equilateral triangle whose

23
areais 3 cm?is equal to
(A) 10 cm (8) 12 cm
(C) 20 cm (D) 15 cm

(C)T 400 m

2. e
? 1+sinx w1 A9 T _
T 4J1-sinx

V(A)secx+tanx (B)secx -tanx

(Csecx —tanx (D)tan x — secx

AZS.MW 2l @T’)TW 4‘\/§CI’D2 -65[, ?ﬁ

HMIAT

IqPT gRET BRI -

(A) 10 ¥H (B) 12 IH

(© 20 ¥ (D) 15 JH

Page: 6 1326

:
gcollegedunla@
India’s largest Student Review Platform



24.

25.

26.

27.

28.

" many days Ravi can finish the 5 work ?

29.

The value of ]og. (1—;) is
(A) O (8) —3
(3 (D) 5

If the ratio of volumes of two spheres is 1 : 8,
then the ratio of their surface areas is
(A)1:4 (B)1:6

(C)1:8 (D) 1:2

If 54/5 x 53 = 5'3’/2 = 5"”"'2 then the value of

ais
(A) 5 (B) 8
€6 (D) 4

The factor of (a*b* — 16¢%)is

(A) (a%h? — 4c?) (@b + 2c)?

(8) 4(a’b? + c*) (ab— 2c)(ab+ 2¢)

(©) (a®h? — 4c?)? (ab + 2¢)(ab+ 4c)
(D) (a?h? + 4c?) (ab+ 2c)(ab— 2¢)

Ravi can do 34 of a work in 12 days. In how

(A) 8 days (B) 7 days
(©) 6 days (D) None of these

The median of the following data 25, 34, 31,
23,22,26,35,29,20,32is
(A) 29.5 (B) 27.5

(©) 30.5 (D) 22.5

24,

25

26.

27

28.

29

AN

1) HA T -
logs (125)

(A) o (8 —3
© 3 () 5

- gfy Q) Mol & IFAA H 1 : 8 @
U B, @ SIP I YOI H U

BT -

(A) 1: 4 (B) 1: 6

© 1:8 (D) 1: 2

A g f5xsPs52=52t2 A oa A
A9 ® -

(A) 5 (B) 8

©) 6 (D) 4

- (a*h* — 16c%) P TTIETS §
(A) (a’h* — 4c?) (ab+ 2c)*
(8) 4(a’b? + c2) (ab— 2¢)(ab+ 2¢)
(©) (a*b? — 4c?)? (ab+ 2c)(;b + 4c)
(O) (a2 + 4¢?) (ab-+ 26) (ab - 20)

M 34 AT B 12 AT A R owEHAr € |
a1y B BT H M B fRa A

2
(A) 8 f&= (8) 7 fa=
0 6 o (D) 39 q DI ol

. = Slisl @ HIftgdT ® -
2§, 34, 31, 23, 22, 26, 35, 29, 20, 32

(A) 29.5 () 27.5
(©) 30.5 (D) 22.5
Page: 7 432631
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30. < g 1
If (;\ + :) = /3, then the value of

32 1
(}C° + —3) will be

x
(A) 0 (8) 3,3

© 3(3-1)  © 3(4/F+1)

31. The area of circle whose circumference is equal

to the perimeter of a square of side 11 cm is
(A) 144 cm? () 124 cm?

(© 154 cm? D) 134 cm?
32 tan 3A -tan 2A - tan Ais equal to
(A) tan3A-tan2A-tan A

(B) tan3A +tan 2A +tan A
(©) tan3A-tan2A-tan A
(D) None of these

33. =
If tan (A +B) = /3 and cos (A- B) = X3 the

o) |

2
values of A and B are

(A) 45°,15°

(B) 15°,30°

(©) 40°20° (0 60°,30°

34. Find equation of line passing through the two
points {3,5)and (—4,2)

(A 3x -7y +26=10
B) 3x+7y+26=20
© 7x-3y4+26=0
0 3x -7y +62= (,)-1137'j

— —— — 5 l
0 afy (x+§)='v'{§€r'?ﬁ(l1—;?)
B qE BAT -
A o () 343
(€) 3(\@_ 1) (D) 3(\/§+ 1)

N W g BT e fhaal © Rl aRfe,
" cm 4o drel g ¥ R € ?
(A 144 m? () 124 cm?

© 154 em? () 134 cm?

2 fan 3A . tan 2A . tan A SXER ®
() tan 3A - tan 2A - tan A
(B) tan 3A + tan 2A + tan A
(© tan 3A . tan 2A - tan A
0 T q PIg TE

3. I tan (A+B)=,j'§3fl'\’cos A -

B= V3@ qracRpdAmE
2

(A} 45° 15° () 15°30°

(©  40° 20° () 60°30°

* gl (3,5) IR (—4,2) ¥

S dTelt X1 &1 G &
(A 3x—Ty+26=0

B 3x+4+7y+26=0
€@ 7x-3y+26=0
O 3x—-T7y+62=0

A

Page: 8
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35, : 55
The value of 34 7239 is 3729 HrAM &
0.4096 e
45265 () 5.652 (A) 5,265 (®) 5.652

(€) None of these (D) 5.625 (O g9 & B T8l (D) 5.625

36. A Verandah of area 90 m? is around a room |36. 15 m o AR 12 m 9 R F AR}
of length 15 m and breadth 12 m. The width of| 3R gg m?2 &Fel & TH aR¥ar &, @

the Verandah is RER P IS B
(A) 2m (B) 1m A) 2 m (B) 1 m
(€ 1.5m (D) 2.5m © 15 m (D) 2.5 m

3. Iftan@ +sinf=mandtan @ -sin@=n.Then|37. Ifx tan @ + sin 8 = m 3N tan 0 -

2_ .2
the value of m* — n=is sing=n B, A mi—p? BT U R

(A) 4 mn (B) /mn W mn O

@ 2vmn ®) 4ymn ©  omn ©)  4ymm
38. The value of c0s20° cos70° — sin20° |38 cos 20° cos70° -  sin20°

sin70° . sin 70° eram -

(A) 1 (B) o : (A) 1 (B) oo

(©) None of these (D)o (© g 9§ S5 & D) o

3. The HCF of two  polynomials 3. T gguel p(x) = 4x2(x2 - 3x + 2)
x) = 4x*(x* - 3x +2 and o
S : I @)= 122 - D24 @

glx) =12x(x — 2)(x%2 — 4)is 4x(x-2). i
A3 x-2) & P AH T -
The LCM of polynomials is 4x(x -2) EIECI'Eﬁ

W 12x2(x2-3x+2) 2 +4) | @ 12 -3x+2) (P +4)
B 12x2(x2 — 3x + 2) (x* — 4) ' B 12x%(x® —3x + 2) (x% — 4)
© PG2-3x+2) (F—4) @ xG?-3x+2)(x* - 4)
(0) 4x(x — 2) - D) 4x(x-2)

mml ﬂlil“lml B e
il | gcollegeduniag
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40.

4.

42,

Find the value of complementary angle of 75°
(A) 850 (8) 15°

© 45 ©) 30°

The value of

15
V10 + 20 + Y40 - v5 - 80
W VE(1442)  ® VE(5+v2)

9 V52+vZ)  © V3(3+v2)

If 7 is the mean of 5, 3, 0.5, 4.5, 3, 8.5, 9.5 then
the value of a’ is

(A) 49
(€ 12

(8) 31
(D) 18

In the given figure, the value of 2DEC is

(A) 75° (B) 65°

(€) 55° (D) 45°

. The sum of two numbers is 11 and their

product is 30, then the numbers are

— - —

40.

41.

42;

43

IV
a9 2
750 % R TP PO
(A) 850 (B) 15°
() 459 (D) 30°
15
V10 + /20 + y40 — /5 — 80
@ AE g -
W VE(14+vz) ® V5(5++2)
@ VE2++v2) @ V3(3++2)
5, 3, 0.5, 4.5, a, 8.5, 9.5 I A T T,
Ay B OAN S
(A) 49 (B) 31
© 12 (D) 18

- few T R %, ,pgc @ A R -

E D
A C B
(A) 75° (B) 65°
(©) 550 (D) 450

“ gfe <1 d=elt &1 A 4 aT‘ﬁW

OHBS 30 B, A AT BT -

{A) 6,5 () 9,2 (A) 6, 5 B g 2
D
(© 8,3 (0) 7,4 © s 3 ) 7 4
Page: 10
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45, Two  straight  lines 3x-2y=5 and |45 &) <o Yt 3x-2y=5 3R
2x+ky+7=0 are perpendicular to each 2 +ky+7=0 G ?ﬁ W o & ar k

other. The value ofkis o1 i 5
(A) 3 ® 3 W 3 o 3
2 2

8 f}' o —1- (C) 4 (D) l
3 3 o =

. TheLC.M.of 12x2y3z2and 18x%y’z%s |46 15,232 AR 1gxty2z? B AAW T

W 36xty’z’  ® 32x'yz W 36xtyz®  ® 32x'yz’
© 21xyz (0) 24x*y?z? © 21xyz (D) 24x%y?z?
47. The value of tan15°is 47 tan 150 @1 A T -
" 2 -3 ® 1 ®  2_3 @ 1
23 23
© 2 (P} 2 443 © 2 0 2443
V3 V3
4. The value of sin 8 + cos(90 +8) + sin(180 - 8) +(48. sin ¢ + COS(90 + 6) *+ sin(180 - @) +
sin (180 +8) s sin (180 + ) BT A ¥ -
(A) 0 (8) —1 (A) o () —1
1 D)1 1 (D) 1
2 2
49. The value of expression 49, logg—logi-— logZ @1 AM g -
14 3 7. ' . 15 25 9
log—l—s——logg—log;ls A 0 ®) 2
(A) 0 (8) 2 © 3 (D) 1
© 3 (D)1

432631
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. The compound interest on%¥ 24,000

compounded semi-annually for 1 i years at the
2

rate of 10% per annum are

(A) ¥ 3,583 (B) ¥ 3,783
() X 3,780 (D) ¥ 3,774

LT

0 % 24000 B 10% AP A P R A
1§ﬁma_mmm,m%w

R BAd 37 ST SR ?

© T 3780 (o) T 3,774
T2 432631
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PHYSICS

51 An object 1 placed in front of a convex lens of
focal length 12 cm. If the size of the real image
formed is half the size of the object, then the
distance of object from the lens

(B) 26 cm

(D) 36 cm

(A) 48 CM
(c) 30cm

The gravitational force between two masses
kept at a certain distance is ‘P’ Newton. The
same two Masses are now kept in water and
the distance between them are same. The
gravitational force between these two masses
in water is ‘Q’ Newton then

W P< Q B) P >Q

52.

© P=Q (D) None of these

53. Vy, Vg, Vg are the velocities of violet, red and

green light respectively, in a glass prism. Which
among the following is a cqrrect,vrelation ?

(A) VV<VG<VR (B) VV>VR>VG

(© VV:VR:VG (D) VV<VR<VG

54 A particle is moving along a circular track of
radius 1 m with a uniform speed. The ratio of
the distance covered and the displacement in
half revolution is

A) 2: 1 B) w:2

9 1:1 D 1:1

T

wr - I
Il CRIULES
o 12 AW B GO B I A
v?;rﬁuﬁélu%mﬁ?ﬁm@
mw,ma;mmanmﬁr,a#
o W g
(a;ﬁ‘wﬁ (8) 26 GHI
Q) g ot w gR ¥ Fifad gf
qqﬁqa%,ﬁimﬁwﬁﬁéwaaﬁ
%gw@*’faﬁimﬁﬁwﬁ
w g ¥ W R W Wl R
e d QST B A -
WP < Q (B)P > Q
©p=Q (D)gTH q PI5 Tl

e ¥ PN W e T2

(A)VV < VG < VR (B)VV > VR > VG

(€) Vy=W= Ve ‘D)V_V <R < '

. P 1A B b WeR ™ W @

T 9l O T BR & 7 | B
qE FFPR TN H dell T g
fowm & srU 8 -

&
1G]

W 2:m B m:2
@ m:1 o) 1:1
Page: B 7
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T

%. A spherical mirror and a thin spherical lens
each have a focal length of - 15 ¢m. Nature

of mirror and lens will be
(A) Mirror convex and lens concave

(B) Both convex

{C) Mirror concave and lens convex

(D) Both concave

%100 joule of heat is produced each second in a

4 ohm resistance. Potential difference across
the resistor

(A) 40 v
© 20v

(8) 50 v
(D) 100V

5. In a simple pendulum experiment, a student
calculate the value of g is 9.92 m/s? but the

standard value of g is 9.80 m/s? then the

percentage error in the calculation of gis
(A) 1.32% (B) 1.12%

(©) 1.22% (D) 1.42%

58. A ball is released from the top of a tower of
height h meter. It takes T seconds to reach

ground. What is the position of ball above the |

ground in T/S seconds ?

55%%33@%?37%%%
T F PiFd g ~15%% ¢ | 0T W
ofeT &Y -

(A) gy o1 SR o\ 37ddel

(B) M} Fdel

(©) Tqur grqqel AR o ST

(D) ST et
56.43ﬁqqﬁﬁaﬁgﬁ@m100qa'w

SO P oW & | Ry § RRT W

fawarr g -

(A) 40 qree (B) 50 dleT

© 20 dree (D) 100 dreT

5. f’ll B gRT W Aad FT TAT B
T TOET gRT g &1 A 9.92 m/s?

T B & | 94fd g B gERE A
980m/s2 & | @ g & 99 & BT

¥ gl Ffe Brft -
(A) 1.329 () 1.12%
(€. 1.22% (D) 1.45%

% T didl, h S915 & @& & I & B
St § S SR 9% wgay § T deve
B Y ofd ¥ | T/5 A9vS e §fd @t
SHH X Erh

(A) 24hm (8) h A n B
2 & (A} 24 h o (B) 3 =
25 25
() 25hm D) 24 © 25 h & (b) 24
—hm Hi — h i
25 25
TN T Page: 14

L —

:
gcollegedumas
India’s largest Student Review Platform



S

59.

60.

61.

~ L

An object 4.0 €M in size, is placed at 25 cm in
front of 2 concave mirror of focal length 15 cm.
t distance from the mirror should a

At wha

screen be placed in order to obtain a sharp
image ?

A) — 37.5 cm (8) — 355 cm

© + 255 cm (0) + 25 cm

A car of mass 2000 kg is moving with a velocity
of 18 km/h. Work done to stop this car is

@ 25 X 10° joule(® 2.5 x 10%joule
© 25 x 10%joule® 2.5 x 10° joule

A body weights 75 gm in air, 51 gm when
completely immersed in unknown liquid and 67
gm when completely immersed in water. Find
the density of the unknown liquid

®W 4gm/em® © 6gm/cm’

© 3gm/cm® 8 gm / cm®

Two unlike parallel forces 2 N and 16 N act at
the ends of a uniform rod of 21 cm length. The

point where the resultant of these two act is at | -

a distance of from the greater force.

(A) 1.cm (8) 3 cm
(€ 4cm (D) 2 cm
The electric field strength at a point in an

electric field is 30 N/C. Find the force
experienced by a charge of 20 C at that point
(A) 300 N (8) 600 N

© 20N (D) 30 N

59. 1;13;

qHR A aw oadd a0

4.0 T4
ﬁmmqﬂww‘e‘.ﬂsw
25.0M§3Wﬁ%lﬁ%‘laﬁﬂ'ﬁm

{ﬁm@qﬁwm%mﬁ?ﬂﬂ

URifg a9 TP ?

Ay —37.5%d (8) —355%h

© 4255& (O +25%

5. 2000 kg P §H PR 18 fpfirgver & 4T
ﬁwvﬁ%lwﬁmﬁmm

B |

) 25 x 103 (B 25 X 10% &=

© 25 x 106w () 25 x 10° @

o Tp fve & &1 § SAT 75 gm ¢ |
ogTa g § Tl ®9 A gdH W 51.gm
g g § g7 gm T | AW G B

T B

™ 4gm/em® ® 6gm/cm’

© 3gm/cm® © 8gm/ em?

62. 2] FH AR §cf 2 N 3R 16 N 0P
21 A ol Bs & RRI W PN B
| q3 90 § S g 9 RUBSE]
w® IF SF g & IRuE g IR
R -
(A) 1 94 (8) 3 9
(€ 4 I (D) 2 |

o @ fgd & § el g ® d0 &
& e 30 YeAgam § | 3 g W
2ow$mwwﬁmwm

(A) 300 =ge~ (B) 600 ~Jc
(@) 20 e (D) 30 =ge-
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6. 6 5 gorH B UF AR B wifm
64. A wooden block of mass 6 kg is pulled across 3

rough surface by a 54 N force against a fricFlon
force F. The acceleration of the bloclf is
6 m/s? then the value of friction force F is

(B) 54 N
(D) 9N

(A) 18 N
(© 36N

If radius of Earth shrinks by 4% and mass of
Earth unchanged, then the value of
acceleration due to gravity will be changed by
(A) 8% (B) 16%

(©) 2% (D) 4%

66. A charge of 10 coulomb is brought from infinity
to a point P near a charged body and in this
process 200 joule of work is done. Electric
potential at point P

(A) 100 v
(© 200V

(B) 20 v
(b) 10V

Magnetic flux of a 20 round coil is reduced to
zero from 0.3 weber in one second then the
induced e.mf. between the terminal of coil +
(A) 25V (B) 6V

©3v (b)15vVv

67.

A sound wave has a frequency of 500 H; and
wavelength 80 cm. How long time will it take to
travel 1 km ? : @

(A) 2.5 seconds

{©) 25 minutes

(B) 2.5 minutes

(D) 25 seconds

L [1]]]

65.

66.

67.

"68.

T g7 P $ fa%g 54 N 99 ENT U
R Wag W EiEr O § | «ilE @y
R /228, A T IA F BT A

BN _

A 18 N (B) 54 N
© 36 N 0 9 N
AT Rt F Browr 4% Rigs W For

g 1 oy

STAM A B2 yRadg q
R & A F 9Rade @

(A) 8% (B) 16%
(€ 29 (D) 49

lﬂwmﬁmﬁwgﬂ%
SR & W g P TH A F 200
I I A vsAr R ) fig p ow

faea fawg &mm -
(A) 100 gree (B) 20 dree
(© 200 qree (D) 10 gree

T 20 W A prseh ¥ 95 g

W1mﬁo;3éavﬁamqw
W ORI B, Al pUsel ¥ RRT & dg
ﬁﬁaﬁqamaa(e.m.f.)am_
(A) 2.5 gree (B) 6 dlee

0 3 g (D) 15 e
SOOWW%WBOWW'&%
@Eﬂﬁﬁ'ﬁﬁ1%ﬁ‘r§'&aﬁm#
9T &

W 25 I (B) 25 fiqe

(0 25 fiFe (D) 25 JFvg

- i’uge: IM%
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69.

70.

~ T

C-R circuit, 100 volt alternating voltage
i app"ed between e‘nd points. In circuit
induCﬁ"e reactance I‘S XL = 20 ohm,
capacifance reactance is ?(C = 20 ohm and
esistance is of 5 ohm. The impedance of circuit

will be
(&) 15 ohm

() 20 ohm

Inan L-

(B) 45 ohm
(D) 5 ohm

Two resistances combines in series order
provide 50 ohm resultant resistance and when
it combines in parallel order provides 8 ohm
resultant resistance. Then the value of each

resistance.
(A) 21 ohm and 29 ohm

(8) 10 ohm and 40 ohm
(©) 20 ohm and 30 ohm
(D) 15 ohm and 35 ohm

71. A stone is gently dropp(-;d from a height of

20m. If its velocity increases uniformly at the
rate of 10 m/s?. With what velocity and after

what time will it strike the ground ?
{8) 20 m/s, 20s ~(B) 10 m/s, 20 s

(©) 10m/s, 2 s (D) 20m/s, 2 s

69.

70.

71.

WL—GRWﬂiﬁwﬁa‘»aﬁamomﬁf
mmm?ﬁﬁﬂamw%iqﬁwﬁ

oy gfrad XL = 20 3im, enRdE
m%mmxc=zoaﬂﬂamaﬁﬁwm€r

R=5@H%Iqﬁqﬂﬁgﬁﬂ1m€ﬁﬁ-
(") 15 3 (8) 45 3

(© 90 3 (D) 5 3

A g o A BA d < fed
mﬁ%aﬁsoaﬁqqﬁmmﬂm
W%wma%mmﬁ_mﬁ

(A) 21 3l 3R 29 A

(8) 10 @ 3R 40 3

(© 20 3 3R 30 I

(D) 15&1}1{3?‘1?3531111
wwi‘zoiﬁaﬁmﬁmm
£ | PRY & ORF WER @ O
10,:&/@2\&%3?@@@31% | SHHE W

 caRy WY TR P A W@ oW aHd

B
(A) 20 A, 20 ADTS

8 10 R, 20 VBT
(© 10 TR, 2 AHvS
(D) 20 HIR, 2 AHTS
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IS

magnetic field of 2500
ty with velocity of
lel of field. The forcé

e e m e e

72. One proton enters ina
N / Amp- m intensi
4 x 105 m/sec in paral
exerted on proton will be i
) 48 x 1071°N_(® 0.48 x 10 N

© ON o8 x 10%°N

oC is added to 180 gm
ature

100 gm of water at 60
er at 95 °C. The resultant temper

73.
of wat

of mixture is

(A) 825 °C B 77.5°C

(© 80°C (o) 85°C

The capacitance of a capacitor is 3 uF. If 108 pC
charge is available in it, then what will be
potential difference between plates ?

(A) 224 volt (B) 324 volt

(C) 36 volt

74.

(D) 24 volt

Heat (in calorie) required to increase _the
temperature from 10°C to 20 oC of 6.kg

75.

copper is same as heat (in calorie) required to
increase the temperature from20°C to |

100 °C of 3 kg lead. If specific heat of copper is

0.09 then the specific heat of lead will be
(A) 0.022 (8) 0.033

{©) 0.055 (D) 0.044

i1
|
H
§

|

NN

e

» w werm 2500 WQ@I@
e & 4 x 10997 ¥
gred ™

73.

74.

75.

» g W XA g |
aﬁfﬂaaaaﬂqﬂ?ﬂﬂ
(Myg x 10710 T

(8)gag x 10710 T

(€ g e
(0)4_8 X 1010 R’.}E;]

6ooca1q$1oomqr=ﬁ‘cﬁ95°c?ﬂq

Errérmoqmm:ﬁﬁfhmm%,aﬁ
fysror BT qROTE a9 BT -
(A)  825°C ) 775°C

(€ (o 85°C

80 °C

wﬁmﬁaﬁaﬁmauF%Itﬁs‘ﬂﬁ
108uczﬁrarraﬂ€fa’rw@a'a%@f€r
¥ drg fvarR 8 -

(A) 224 dieT (8) 324 dlcT
(© 36 dlce (D) 24 dleT
sm?ﬁa’rﬁrmﬂmmocﬁzooc

W@ﬁﬁ%ﬂﬁﬁﬂmaﬁ
mmm%ﬁ?ﬁ%,ﬁlﬁﬁﬁssﬁﬁmw
airamﬁz()og‘\ﬁmoocﬁ@‘ﬁfr
ggEdal A & | ARk di @ fafre
ST 0.09 B, a1 W @ fAfre o

B

(A) 0.022 (8) 0.033
(C) 0.055 (D) 0.044
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76.

78.

78.

Amount of copper deposited on the cathode of

el ectrolytic cell containing copper sulphate
Jtion by the passage of 2 amperes for 30
At. mass of Cu = 63.5)

(8) 0.2214 gm
(D) 1.184 gm

76

sol

(A) 0,1184 gm
() 2.2148m

n which of the compound oxidation number of
oxygen is +27

A K0 (8) 0,

© Na,0; (d) F,0

The number of molecules present in 2.8 g of
nitrogen is

(A) 6.023 X 10 (8) 6.023 X 10%

(© 6.023 X 10% (D) 6.023 % 1023

In the following reacﬁon

S0, + 2H,S—> 38+ 2H,0
{A) Sulphur is reduced and oxygen is oxidised

(8) Sulphur is oxidised andrHydrrogen is reduced

(©) Sulphur is both oxidised and reduced

(D) Hydrogen is oxidised and Sulphur is reduced

%. Essential constituent of an gmaigam is

(A) Mercury (B) an alkali metal

(O an alkali (D) Silver

LT

7.

78.

79.

80.

RIAA_IE

Bl qape A Y e fgd e
Vg F 2 R @ ax7 30 BC T8
Yafg Fe W e W R PR DI
A ¥ (IR BT WA IR = 63.5)
(W) 0.1184 gm (8) 0.2214 gm

(© 2214 gm (D) 1184 gm

frg & o g e # i & forg
diteRitgeoy AT BT A 42 B2

(A K,0 B 0,

(©  Na,O, ()  F,0

2.8 g AggoH A gt @ SuRera AT
& .
(A) 6.023 x 10%

6.023 x 10° (8)

© 6023 x10% (O  6.023 x 107

o afufipar &

S0, + 2H,S—> 35+ 2H,0

WPy BT g 9 Ao B
SFRABROT T T |

(B)gepy _ SfRNPd T EESIoT  Iard

-

(O TeFR BT IRAGT Td AGGIT I
REI

(D)EEESE JfFiipd d WewR AGafd
g |

ST &1 I °UTH © —
(B) T &N €1

(A) ORT
(€ TH &R (0) =Y
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81. The half life period of a radicactive element is
150 days. After 600 days 1 gm of the element

will be reduced to

w 1 8) 1 -
16 5™ g ®

© 1 () 15 N
33 & 16

Hardness of water is due to the presence of
(A) Sodium and Potassium salt

(8) Calcium and magnesium salt
() Lead and copper salt
(D) None of these
. An organic compound contains carbon =
38.71%, Hydrogen = 9.67% and Oxygen. The

empirical formula of the compound would be
(A) CH,O (8) CH,0

(0 CHO (d) CH;0

84. An example of thermosetting plastic is
(A) All of these (B) Bakelite
(C) Polythylene + (D) PV.C.

. Electronic - configuration of copper can be
represented as 3

(A) [Ar]4s?3d°4p® (B) [Ar]4s®3d’
(© [Ar]4s23d1%4p? (© [Ar]4s3dL

86. Among the following, ionic hydride is
(A) BH; (8) SiH,
(©) PH, (b) MgH,

85.

86.

AU

82.

(©

sReiafed @< B JgAgdIcl 150

8. U
fq & | goo f3d @& 1 gm T TE
ST
(A) i (8) %gm
16
p) 15
(€ -élagm ( Igng

g % HoRar & FRU €
(A) aifeay qor aeR/H odul

(8) feergq o {AREH IqU
(©) s Td PR qol
(D) 398 A PIg el

TF FHfe g H OPEAT = 38.71%

TESNH = 9.67% a1 JfRier &
AP B Gerrgurlt A BT

(A CH,0 (8)  CH,0

(©  CHO (D)  CH,0

TR WiiRed & Tdb SaTeRl & -

A I I (B) dderizc

© diefiefig - 0} PV.C.

PR P goleci=e faarg veRia fear
ST ghdl ®
(A)[Ar]4s?3d°4p?

() [Ar]4s23d%%4p! (D)[Ar]4s13dt®

(B) [Ar]4s23d’

frefafed 3 @ e TIRgES © -
(A BH; (8  SiH,

-

PH3 (D) MgH2

432631

:
gcollegedumas
India’s largest Student Review Platform

Page: 20



— I
_—

o

s catalyst is used in oxidizing NH,
, Whic

? UL e A (NH,) &
Ostwe 5ld's process o e & S S &

(r) Fe0 " M Fe0 (8) pt

(© Molybdenum (0) V,0, O e (D) V,0,

o Which among the following pairs are not\se. Frafifeg & @ @9 JH TqHH
hav"‘g same number of total electrons ? Sorget <@ are T Y 2

w 07 andF~ (B p=¥ qpd Ay W g2~ wF B P3mAr

© Na*and A¥* (D) Mg2* apg Ay ©  NatwAPt O Mg?t g Ar

g Equivalent weight of a dibasic acid is 12 Its
molecular weight is

(A) 24 (8) 12
€6 (D) 48

%. Hydrocarbon used for welding purpose is
(A) Ethyne
(€ Ethene

(B) Benzene
(D) Ethane
9. Which of the following order of ionic radii is

correctly represented ?
WH >H*>H

(B) Na* > F~> 02~ -
©F >0* >Nat

() AI¥* < Mg?* < N3-

2 10.0 gm CaCO, on heating gave 5.6 gm of Ca0
and 4.4 gm of C[} » given data support the
law of
() Multiple proportion
(8) Constant proportion

(O Law of conservation of mass
(®) All of these

89.

90.

91.

U fgaifad el & Jedidt R 12 & |

P! AR A -

(A) 94 (B) 12

© 6 (D) 48

ST § T TESEET ¥

(A)-gorrg (8) i

© gofig (0) I

IS el & v PrfeRem § @
Eﬁﬁiﬂ'\’lﬁﬂ%?

(AH->H*>H

(BINa* > F~ > Q2

(OF > 0% >Na*

D)AIR* < Mg?* < N3-

100gmCaC0, ™ & W 56 gm Ca0
W 44 gm CO,S & | fmnm g

™ R ST

- SibsT T @1 R wRar €

B R s
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93. Cracking is a process used for change in
(A) Ketones to aldehydes

(B) Alcohols to aldehydes
(©) Alkanes to aromatic hydrocarbons

i wer
(D) Higher molecular weight alkane to lo
molecular weight alkane

9. Which of the following types drugs reduces
fever ?

{A) Tranquilizers (B) Antibiotic

(©) Analgesic (D) Antipyretic

%. F,C = CF, isa monomer of
(A) Teflon

(©) Nylon-6

(B) Buna-S
(D) Glyptol

9. The IUPAC name of
CZHS

HCSC—C—CHsis

l
H

0 3-Methyl-1-Pentyne
(®) 3-Methyl-4-pentyne
(9 2-Ethyl-2-Propyne

0) 3-Methyl-5-pentyne

9. Detergents are the salt of

(A)Carboxylic acid and Sulphonic acids or

alkyl
hydrogen sulphates hoth

M

94.

95.

%.

97.

HCEC—-?~CH3W IUPAC 7w ¢ _

-4-U=Tge
© 2‘§‘\’113?fr-2-3|‘m|3=y
(0) 3'7%‘21133-5-‘1-‘613?

Wi st W Tewfve g @
Ufewhel BIEEoM webe Qi
CIocplts o o o emgm

e
O T8 (D) prqifRIfee 3t

:
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mmon name of 2-Butanone is

The 0
%. (B) Butyraldehyde

(A) Acetone
(© AcetiC anhydride

) gthyl Methyl Ketone

o Réal gas behaves like ideal gas at
(A) High temperature (B) HfEEfﬁressure

(C) Low temperature (D) None of these

100. The rate of diffusion of a gas is r and its density
is d, then under similar conditions of pressure

and temperature
(A) rxd (B) s

(© rox+/d (D) roc

— R L

98-'2-a1éqﬁ:rm¢rrm=a=m% .

(A) ufeH (®) gferfeseizs
© oRifEH TIERSES

(D) gangaﬁarrs'aaﬁz‘ﬁ

gg.mﬂﬂmﬂvﬁﬁﬁm

B ® \
(A geg A W (B S R

(© for amoEr ‘T\’.
o) g7 &, PE T

S 3 RERUT P GX r AgT ST

T d ®
i : (B) 1
(A) ) 1"O<d roc‘r/?i

’ :) /S :C." ™ b)
el = R O e
© 3 reyfd V7 P o
(SN

—
p—
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